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Section 5.3 Solving Quadratic Equations by Factoring and with the Calculator DAY ONE

Find the zeros of each function by using your graphing calculator.

1. f(x)=—x"+4x-3

Lo B

/

Zeros:

2. g(x)=x"+x-6

=g

ZEeros: 5

3. f(x)=x*-9

Find the zeros of each function by FACTORING.

4. f(x)=x"+11x+24
O= ¥+ Ux+2y
0= (w+3dD(x+¥)

X¥y 2o oR UXF=o
K= =3 WK -
solution(s): __ — %, %

5 g(x)=2x"+x-10
G = %+t -0

o= Lax¥S)ln =2
axX TS =0 0. X ~2=0
X =-5 %
- -5
solution(s): =, *

= —-—iXL"\'qX
O = %P Py
O= %X (% =2)
%o o' % T4TO
% 29
solution(s): O, A

7. f(x)=x"—15x+54
G =Rt 8% sy
0= (% -L)x-q)

X"b26& o0& X-9=0
% = % =9
solution(s): __© 3 9

8. g(x)=x*+7x-8
0= XY +3Fy~-¢
o= (»¥)x—)

X*Tg¥zo e X -1 =0
}(’:ﬂg w =)
solution(s): __ — ‘3') \

9. A(x)=2x>-12x+18
O=ax> - 1Lxt\&
O= x*-bx+9
0= (x=-3)(x-3)

x)(—b )
solution(ss): )

10. A bald eagle snatches a fish from a lake and flies to an altitude of L?B_E[ The fish manages to
squirm free and falls back down into the lake. Its height h, in feet can be modeled by A(7) = 256 — 1672,
where t is the time in seconds. How many seconds will the fish fall before hitting the water?
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Q = 25 aslo
O= 42 _\p
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\’l(’c) =0

o= (£ -¥(k+w)

-l o RS krY=o

t\_ ) o’ ’c><ty e,
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11. x*+8x=-16 12. 36x° =9 13. x*+25=10x
AE+Bx Y T O Blasp _01 =0 XE Slow *2LS FO
(x +2)(x+4) =0 | - (x ==)Ix-s)=©

Ll (ax- \)\w*\) =0 T
ax-120 &% +=\ =

solution(s): —4 solution(s): el solution(s): o

Wirite a quadratic function in btandard form lfor each given set of zeros.

14. 5and -1 15. 6and 2 16.-3 and3

W = (x-)(%x * *1) Fou!
R e =

W= (x -)x~2)  Fodd
W= Y —gx L

2\5:‘ (x‘*%')("‘:(**%)
W= W Yoxt+9




